

## Missouri Department of Transportation Contractor's Pay Estimate Summary

## Pay Estimate Created Date: August 18, 2025

	_										
Progress Estimate Number 2			· · · · · · · · · · · · · · · · · · ·				et 2, 2025 et 15, 2025	Original Contract Amount Net Change Order Amount Current Contract Amount	\$4,140,235.97 \$0.00 \$4,140,235.97		
Approval Date									By User		
August 18, 2025			Generated	and App	roved (and sl	nould be	considered	d Draft) at the Project Office Level by	stronk1		
August 18, 2025	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by										
August 20, 2025	Reviewed and Approved at the Central Office Controllers Office Level by										
Original Completi	Current (	Completion Date		Actual Comp	actual Completion Date % of Current Contr			tract Amount Complete			
May 15, 202	26	Ma	ay 15, 2026 37.9					37.94%	.94%		
	С	ontract Inform	ational Dates					Milestones			
Date Description	Original Co	mpletion Date	Current Completi	on Date			No Milestones Exist for Contract				
Acceptance Date											
Awarded Date	July 9, 2025		July 9, 2025								
Letting Date	June 20, 2025 June 20, 2025										
Notice to Proceed Date	July 24, 202	y 24, 2025 July 24, 2025									
Work Began Date											

Contract Total Pay For Estimate No. 2									
		This Estimate	Previous	To Date					
250620-A04									
	Total Posted Items Pay	\$1,226,536.50	\$344,124.95	\$1,570,661.45					
	Gross Item Adjustments	(\$143,075.60)	(\$34,976.90)	(\$178,052.50)					
	Incentive	\$0.00	\$0.00	\$0.00					
	Disincentive	\$0.00	\$0.00	\$0.00					
	Liquidated Damage	\$0.00	\$0.00	\$0.00					
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00					
	-		\$309,148.05	\$1,392,608.95					
<b>Contract Total Payab</b>	le This Estimate:	\$1,083,460.90							

## Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JNWM0090	0010	4132000	SCRUB SEAL	SQYD	\$2.010	478,090	\$960,960.90
	0020	6169901	MISC.Lump Sum Temporary Traffic Control	LS	\$55,000.000	0.500	\$27,500.00
	0030	6181000	MOBILIZATION	LS	\$122,500.000	1	\$122,500.00
	0070	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.350	330,216	\$115,575.60

 Project JNWM0090 - Total
 \$1,226,536.50

 Overall - Total
 \$1,226,536.50

# Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

		nts This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JNWM0090	0020	MISC.	Material			-0.50000	\$55,000.00	(\$27,500.00)
	0070	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-430,150	\$0.35	(\$150,552.50)
	0070	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	MaterialCredit			99,934	\$0.35	\$34,976.90
Total								(\$143,075.60)

Revision 5/29/2025 Page 1 of 7



# Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information											
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
JNWM0090		Scrub Seal	Various	VARIOUS	at various locations in the Northwest District							
Totals by	otals by Job Numbers											
JNWM0090					This Estimate	Previous	To Date					
	Posted I Gross It	em Adjustmen	its Gross Ite	em Pav	\$1,226,536.50 (\$143,075.60) <b>\$1,083,460.90</b>	\$344,124.95 (\$34,976.90) <b>\$309,148.05</b>	\$1,570,661.45 (\$178,052.50) <b>\$1,392,608.95</b>					
	Incentiv			•	\$0.00	\$0.00	\$0.00					
	Disince				\$0.00	\$0.00	\$0.00					
		ed Damages			\$0.00							
	046	ontract Adjust			\$0.00 \$0.00							

Revision 5/29/2025 Page 2 of 7



# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

# **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JNWM0090, Item 6169901, Project Item Line Number 0020, Material Set 6169901, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No certifications	stronk1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JNWM0090, Item 6206001C, Project Item Line Number 0070, Material Set 6206001C96, Material 1048PMTRHBWBYL - Marking Paint Acrylic Watr HiBld Yellow, Acceptance Action Generic 1048PMTRHBWBYL is insufficient.	No certifications	stronk1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JNWM0090, Item 6206001C, Project Item Line Number 0070, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No test results	stronk1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JNWM0090, Item 6206001C, Project Item Line Number 0070, Material Set 6206001C96, Material 0620PMLI - Pavement Marking Performance Line, Acceptance Action Generic 0620PMLI is insufficient.	No certifications	stronk1	Acknowledged

Revision 5/29/2025 Page 3 of 7



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
250620-	JNWM0090	0001	0010	4132000	SCRUB SEAL	1,778,882.00	0.00	1,778,882.00	SQYD	631,895.00	\$2.01	\$1,270,108.95
A04		0001	0020	6169901	MISC.Lump Sum Temporary Traffic Control	1.00	0.00	1.00	LS	0.50	\$55,000.00	\$27,500.00
		0001	0030	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$122,500.00	\$122,500.00
		0001	0040	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	60.00	0.00	60.00	LF	0.00	\$27.00	\$0.00
		0001	0050	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	6.00	0.00	6.00	EA	0.00	\$1,300.00	\$0.00
		0001	0060	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,186.00	0.00	2,186.00	LF	0.00	\$1.10	\$0.00
		0001	0070	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,072,453.00	0.00	1,072,453.00	LF	430,150.00	\$0.35	\$150,552.50
	Project JNW	/M0090 - To	tal Value	Posted to D	ate as of Report Generated Date							\$1,570,661.45
250620-A	A04 Overall -	Total Value	Posted t	o Date as of	Report Generated Date							\$1,570,661.45

Page 4 of 7 Revision 5/29/2025



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### $\underline{\textbf{The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.}$

Project: JNWM0090

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	4132000	SCRUB SEAL	8/2/25	8/18/25	1	22,426.00	SQYD	Route Z	5.052		6.902		
			8/5/25	8/13/25	1	69,343.00	SQYD	0.803-3.172	0.00	3.159			
			8/6/25	8/13/25	1	32,029.00	SQYD		3.172		5.472		
			8/7/25	8/13/25	1	65,129.00	SQYD		15.292		20.869		
			8/8/25	8/13/25	1	69,401.00	SQYD		8.097		13.810		
			8/13/25	8/13/25	1	56,526.00	SQYD	Rt kk 5.904- 8.404	15.226		13.810		
				8/18/25	1	83,804.00	SQYD	RTE KK 11.352- 8.404	0.00		4.258		
			8/14/25	8/18/25	1	79,432.00	SQYD	RTE EE 0.0 - 2.881	8.145		4.258		
0020	6169901	MISC.	8/15/25	8/18/25	1	0.50	LS	Various routes					Over 5% of contract completed so pay 50% LSTTC
0030	6181000	MOBILIZATION	8/15/25	8/18/25	1	1.00	LS	Jobsite					Contract at 34%, therefore all mobilization to be paid.
0070	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	8/2/25	8/18/25	1	18,474.00	LF	Route Z	5.052		6.902		
			8/5/25	8/13/25	1	43,268.00	LF	.803 to 3.172	0.000		3.159		
			8/6/25	8/13/25	1	20,792.00	LF		3.172		5.472		
			8/7/25	8/13/25	1	32,027.00	LF		15.292		20.869		
			8/8/25	8/13/25	1	51,528.00	LF		8.097		13.810		
			8/13/25	8/13/25	1	62,834.00	LF	RT KK 5.904-8.404	15.226		13.810		
				8/18/25	1	53,389.00	LF	RTE KK 11.352- 8.404	0.00		4.258		
			8/14/25	8/18/25	1	47,904.00	LF	RTE EE 0.0- 2.881	8.145		4.258		

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 6/5/2025 Page 5 of 7

Aug 21, 2025



# Line Item Adjustments by Estimate

# Contract ID: 250620-A04

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks				
JNWM0090	M0090 0020 MISC.	MISC.	Material		2	Aug 18, 2025	SYSTEM	(\$27,500.00)					
				- Total				(\$27,500.00)					
			Material - Tota	ıl				(\$27,500.00)					
	0020 -	Total						(\$27,500.00)					
	0070	70 4 IN. YELLOW WATERBORNE PAVEMENT MARKING	TERBORNE 'EMENT	Material	Material	Material	Material		1	Aug 5, 2025	SYSTEM	(\$34,976.90)	
					2	Aug 18, 2025	SYSTEM	(\$150,552.50)					
				- Total				(\$185,529.40)					
			Material - Tota	ı				(\$185,529.40)					
			MaterialCredit		2	Aug 18, 2025	SYSTEM	\$34,976.90					
				- Total				\$34,976.90					
			MaterialCredit	- Total				\$34,976.90					
0070 - Total								(\$150,552.50)					
JNWM0090 -	Total							(\$178,052.50)					
Overall - Tot	tal							(\$178,052.50)					

# MoDOT

# Contract Adjustments for Contract - 250620-A04

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 7 of 7